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1.

In
tr

od
u
ct

io
n

d
e

l’
ob

je
t

sé
ri

e

D
éfi

n
it

io
n

So
it

(u
n
) n

2N
un

e
su

it
e

de
ré

el
s.

•
O

n
ap

pe
lle

sé
ri

e
d
e

te
rm

e
gé

n
ér

al
u

n
et

on
no

te
P

u
n

la
su

it
e

(S
n
) n

2N
do

nt
le

te
rm

e
gé

né
ra

lS
n

es
t

dé
fin

ip
ar

:S
n

=
n P k
=

0

u
k
.

•
La

su
it

e
(S

n
)

es
t

ap
pe

lé
e

su
it

e
d
es

so
m

m
es

p
ar

ti
el

le
s

as
so

ci
ée

à
la

sé
ri

e
P

u
n
.S

on
te

rm
e

gé
né

ra
lS

n
es

ta
pp

el
é
so

m
m

e
p
ar

ti
el

le
d
’o

rd
re

n
as

so
ci

ée
à

la
sé

ri
e
P

u
n
.

•
O

n
pe

ut
au

ss
ic

on
si

dé
re

r
de

s
sé

ri
es

do
nt

l’i
nd

ic
e

in
it

ia
ln

’e
st

pa
s

0.
Si

m
2

N
,
on

no
te

ra
P n
>

m
u

n
po

ur
dé

si
gn

er
la

sé
ri

e
dé

fin
ie

pa
r

la
su

it
e

(T
n
) n

>
m

de
te

rm
e

gé
né

ra
lT

n
=

n P k
=

m

u
k
.

E
xe

m
p
le

•
O

n
s’

in
té

re
ss

e
à

la
sé

ri
e
P

1
.

Sa
so

m
m

e
pa

rt
ie

lle
d’

or
dr

e
n

es
t

:S
n

=
n P k
=

0

1
=

n
+

1
.

•
O

n
s’

in
té

re
ss

e
à

la
sé

ri
e
P

n
.

Sa
so

m
m

e
pa

rt
ie

lle
d’

or
dr

e
n

es
t

:S
n

=
n P k
=

0

k
=

n
(n

+
1
)

2
.

1



E
C

E
1-B

2015-2016

•
O

n
s’intéresse

à
la

série
P

n
2.

Sa
som

m
e

partielle
d’ordre

n
est

:
S

n
=

nPk
=

0

k
2

=
n
(n

+
1
)(2

n
+

1
)

6
.

•
O

n
s’intéresse

à
la

série
P

q
n.

Sa
som

m
e

partielle
d’ordre

n
est

:
S

n
=

nPk
=

0

q
k.

⇥
si

q
=

1
:

S
n

=
nPk
=

0

q
k

=
nPk
=

0

1
=

n
+

1.

⇥
si

q6=
1

:
S

n
=

nPk
=

0

q
k

=
1�

q
n
+

1

1�
q

.

I.2.
N

atu
re

d
’u

n
e

série

I.2.a)
D

éfi
n
ition

D
éfi

n
ition

Soit
(u

n
)
n2

N
une

suite
de

réels.

O
n

considère
la

série
P

u
n .

La
suite

de
ses

som
m

es
partielles

(S
n
)

est
définie

par
:
S

n
=

nPk
=

0

u
k .

•
O

n
dit

que
la

série
P

u
n

est
convergente

si
la

suite
de

ses
som

m
es

partielles
(S

n
)
n2

N
est

convergente.

•
O

n
dit

que
la

série
P

u
n

est
d
ivergente

si
la

suite
de

ses
som

m
es

partielles
(S

n
)
n2

N
est

divergente.

•
Lorsque

P
u

n
converge,

la
lim

ite
de

la
suite

(S
n
)
n2

N
est

appelée
som

m
e

d
e

la
série

et
est

(souvent)
notée

S
.O

n
a

alors
:

S
=

+
1Pk
=

0

u
k

=
lim

n!
+
1

S
n

=
lim

n!
+
1

✓
nPk
=

0

u
k ◆

•
D

éterm
iner

la
n
atu

re
d’une

série,
c’est

déterm
iner

si
elle

est
conver-

gente
ou

divergente.
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�
Il

ne
fa

ut
pa

s
co

nf
on

dr
e

le
s

no
ta

ti
on

s
:

•
P

u
n

qu
id

és
ig

ne
la

sé
ri

e
de

te
rm

e
gé

né
ra

lu
n
,

•
S

n
=

n P k
=

0

u
k

qu
ie

st
la

so
m

m
e

pa
rt

ie
lle

d’
or

dr
e

n
de

ce
tt

e
sé

ri
e,

•
S

=
+
1 P k
=

0

u
k

qu
i

dé
si

gn
e,

SI
LA

SÉ
RI

E
ES

T
CO

NV
ER

GE
NT

E,
la

so
m

m
e

de
ce

tt
e

sé
ri

e
(l

im
it

e
fin

ie
(2

R
)

de
la

su
it

e
(S

n
))

.

+
O

n
n’

éc
ri

ra
+
1 P k
=

0

u
k

qu
’A
PR

ÈS
av

oi
r

pr
ou

vé
la

co
nv

er
ge

nc
e

de
P

u
n
.

E
xe

m
p
le

•
La

sé
ri

e
P

1
es

t
di

ve
rg

en
te

.

S
n

=
n P k
=

0

1
=

n
+

1
�!

n
!

+
1

+
1

.

•
La

sé
ri

e
P

n
es

t
di

ve
rg

en
te

.

S
n

=
n P k
=

0

k
=

n
(n

+
1)

2
�!

n
!

+
1

+
1

.

•
La

sé
ri

e
P

qn
es

t
co

nv
er

ge
nt

e
SS

I
�

1
<

q
<

1.

⇥
si

q
=

1
:

S
n

=
n P k
=

0

qk
=

n P k
=

0

1
=

n
+

1
�!

n
!

+
1

+
1

.

La
sé

ri
e
P

u
n

es
t

do
nc

di
ve

rg
en

te
.

⇥
si

q
6=

1
:

S
n

=
n P k
=

0

qk
=

1
�

qn
+

1

1
�

q
.

Si
�

1
<

q
<

1,
qn

+
1

�!
n
!

+
1

0
et

S
n

�!
n
!

+
1

1

1
�

q
.

La
sé

ri
e
P

qn
es

t
do

nc
co

nv
er

ge
nt

e
de

so
m

m
e

+
1 P k
=

0

qk
=

1

1
�

q
.
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MÉTHODO
É
tu

d
e

d
e

séries

A
fin

de
déterm

iner
la

nature
d’une

série P
u

n ,on
pourra

penser
à

utiliser
l’une

des
techniques

listées
ci-dessous.

1)
É

tude
de

la
lim

ite
de

u
n

a)
si

u
n

6�!
n!

+
1

0,la
série

P
u

n
diverge

grossièrem
ent

donc
diverge.

b)
si

u
n

�!
n!

+
1

0,la
série

P
u

n
ne

diverge
pas

grossièrem
ent.

La
série

P
u

n
peut

être
divergente

ou
convergente.

(une
étude

plus
précise

doit
être

réalisée)

2)
Si P

u
n

est
à

term
es

positifs
( P

u
n

à
term

es
de

signe
constant)

O
n

dispose
des

trois
outils

suivants.
a)

C
ritère

de
com

paraison.
b)

C
ritère

d’équivalence.
c)

C
ritère

de
négligeabilité.

3)
Si P

u
n

«
quelconque

»

O
n

pourra
penser

à
l’une

de
ces

m
éthodes.

a)
D

ém
ontrer

de
la

convergence
absolue

(techniques
du

2)
utilisables)

⇥
Si P

|u
n |est

convergente
(i.e. P

u
n

absolum
ent

convergente)
alors P

u
n

est
convergente.

⇥
Si P

|u
n |est

divergente
alors P

u
n

peut
être

divergente
ou

convergente.
(une

étude
plus

précise
doit

être
réalisée)

b)
O

n
revient

à
la

définition
:la

série P
u

n
est

convergente
sila

suite
(S

n
)

est
convergente.O

n
peut

calculer
S

n
:

⇥
en

reconnaissant
des

séries
usuelles

(série
géom

étrique
et

ses
dé-

rivées,série
exponentielle).

⇥
en

reconnaissant
une

som
m

e
télescopique.
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I.2.b
)

U
n

lien
d
e

convergen
ce

entre
su

ites
et

séries

T
h
éorèm

e
1.

Soit
(u

n
)
n2

N
une

suite
de

réels.

(u
n
)

converge
,

P
(u

n
+

1 �
u

n
)

converge

D
ém

onstration.
N

otons
(v

n
)
n2

N
la

suite
de

term
e

général:
v
n

=
u

n
+

1 �
u

n .
P
ar

définition,la
série P

v
n

est
convergente

sisa
suite

des
som

m
es

par-
tielles

(S
n
)

est
convergente.O

r
:

S
n

=
nPk
=

0

v
k

=
nPk
=

0

(u
k
+

1 �
u

k )
=

u
n
+

1 �
u

0

•
Si

(S
n
)

converge,alors
(u

n
+

1 )
converge

et
donc

(u
n
)

converge.
•

R
éciproquem

ent,
si

(u
n
)

converge,
il

en
est

de
m

êm
e

de
(u

n
+

1 )
(sous-

suite
de

(u
n
))

et
donc

de
(S

n
).

E
xem

p
le

C
e

théorèm
e

est
une

application
de

la
propriété

de
télescopage.

C
ette

propriété
est

fréquente
dans

les
exercices

m
êm

e
si

elle
apparaît

parfois
cachée.

C
onsidérons

par
exem

ple
la

série
Pn>

1
ln ✓

1
+

1n ◆
.
Son

term
e

général
vé-

rifie
:

v
n

=
ln ✓

1
+

1n ◆
=

ln ✓
n

+
1

n

◆
=

ln
(n

+
1)�

ln
n

A
insi,sa

som
m

e
partielle

d’ordre
n

est
:

S
n

=
nPk
=

1

v
k

=
nPk
=

1

(ln
(k

+
1)�

ln
k
)

=
ln

(n
+

1
)�

ln
(1

)
�!

n!
+
1

+
1

et
donc

la
série

Pn>
1
ln ✓

1
+

1n ◆
est

divergente.
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R

és
um

é
de

s
sé

ri
es

re
nc

on
tr

ée
s

u
n

N
at

ur
e

de
P

u
n

n
3

P
n

3
di

ve
rg

e

n
2

P
n

2
di

ve
rg

e

n
P

n
di

ve
rg

e

1
P

1
di

ve
rg

e

ln

✓ 1
+

1 n

◆
P n
>

1
ln

✓ 1
+

1 n

◆
di

ve
rg

e

1 n

P n
>

1

1 n
di

ve
rg

e

1 n
2

P n
>

1

1 n
2

co
nv

er
ge

1 n
↵

av
ec

↵
>

2
P n
>

1

1 n
↵

co
nv

er
ge

R
em

ar
qu

e

C
om

m
e

on
le

ve
rr

a
pa

r
la

su
it

e
:

P n
>

1

1 n
↵

co
nv

er
ge

,
↵

>
1
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I.
3.

L
ie

n
en

tr
e

u
n

et
S

n

L’
ob

je
t

u
n
,
te

rm
e

gé
né

ra
l
de

la
sé

ri
e
P

u
n

et
le

s
qu

an
ti

té
s

S
n
,
so

m
m

es
pa

rt
ie

lle
s

d’
or

dr
e

n
,s

on
t

lié
s

pa
r

le
s

re
la

ti
on

s
su

iv
an

te
s

:

•
8n

>
0,

S
n

=
u

0
+

u
1
+

··
·+

u
n

et
u

0
=

S
0

•
8n

>
1
,

u
n

=
S

n
�

S
n
�

1

R
em

ar
qu

e

•
C

et
te

de
rn

iè
re

ég
al

it
é

fa
it

ap
pa

ra
ît

re
u

n
co

m
m

e
un

ta
ux

d’
ac

cr
oi

ss
e-

m
en

t
:

u
n

=
S

n
�

S
n
�

1
=

S
n
�

S
n
�

1

n
�

(n
�

1)

La
qu

an
ti

té
u

n
es

t
do

nc
la

vi
te

ss
e

d’
ac

cr
oi

ss
em

en
t

(p
ot

en
ti

el
le

m
en

t
né

-
ga

ti
ve

)
en

tr
e

le
s

in
st

an
ts

n
�

1
et

n
de

la
su

it
e

(S
n
).

•
C

e
ta

ux
d’

ac
cr

oi
ss

em
en

t
du

m
on

de
di

sc
re

t
es

t
à

co
m

pa
re

r
av

ec
le

ta
ux

d’
ac

cr
oi

ss
em

en
t

du
m

on
de

co
nt

in
u

re
nc

on
tr

é
da

ns
le

ch
ap

it
re

«
D

ér
iv

a-
ti

on
»

:
f
(x

0
+

h
)
�

f
(x

0
)

h

do
nt

la
lim

it
e

qu
an

d
h
!

0
dé

fin
it

la
qu

an
ti

té
f
0 (
x

0
)

(v
it

es
se

in
st

an
ta

-
né

e
au

te
m

ps
x

0
si

f
dé

fin
it

un
dé

pl
ac

em
en

t
en

fo
nc

ti
on

du
te

m
ps

).

•
P
ar

an
al

og
ie

av
ec

le
m

on
de

co
nt

in
u,

la
qu

an
ti

té
u

n
pe

ut
do

nc
êt

re
pe

ns
ée

co
m

m
e

la
«

dé
ri

vé
e

di
sc

rè
te

»
de

S
n
.

La
qu

an
ti

té
S

n
ap

pa
ra

ît
al

or
s

co
m

m
e

la
«

pr
im

it
iv

e
di

sc
rè

te
»

de
u

n
.

•
O

n
po

ur
ra

ga
rd

er
en

tê
te

ce
tt

e
an

al
og

ie
en

tr
e

le
sy

m
bo

le
P

qu
id

éfi
ni

t
un

e
so

m
m

at
io

n
da

ns
le

m
on

de
di

sc
re

t
et

le
sy

m
bo

le
R

qu
i
dé

fin
it

un
e

so
m

m
at

io
n

da
ns

le
m

on
de

co
nt

in
u.

E
n

co
ns

éq
ue

nc
e,

le
s

pr
op

ri
ét

és
et

te
ch

ni
qu

es
de

ce
ch

ap
it

re
se

ro
nt

so
uv

en
t

an
al

og
ue

s
à

ce
lle

s
pr

és
en

té
es

da
ns

le
ch

ap
it

re
«

In
té

gr
at

io
n

».
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D
ém

onstration.
1)

O
n

introduit
(v

n
)

et
(w

n
)

les
suites

définies
par

:

v
n

=
u

n
+

|u
n |

2
et

w
n

=
|u

n |�
u

n

2

v
n

est
la

partie
positive

de
u

n
et

w
n

est
la

partie
négative

de
u

n .
•

P
our

tout
n
2

N
,on

a
:

0
6

v
n

6
|u

n |.
⇥

P
ar

hypothèse,|u
n |est

le
term

e
générald’une

suite
convergente.

⇥
A

insi,par
le

théorèm
e

11,la
série

P
v
n

est
convergente.

•
D

e
m

êm
e,pour

tout
n
2

N
,on

a
:

0
6

w
n

6
|u

n |.
⇥

P
ar

hypothèse,|u
n |est

le
term

e
générald’une

suite
convergente.

⇥
A

insi,par
le

théorèm
e

11,la
série

P
w

n
est

convergente.
E

nfin,on
rem

arque
que,pourtout

n
2

N
,
u

n
=

v
n �

w
n .La

série P
u

n

est
la

som
m

e
de

deux
séries

convergentes.E
lle

est
donc

convergente.

2)
P
ar

inégalité
triangulaire,on

a,pour
tout

n
2

N
: ����

nPk
=

0

u
k ����

6
nPk
=

0 |u
k |.

Les
séries P

u
n

et P
|u

n |
étant

supposées
convergentes,on

obtient
le

résultat
souhaité

par
passage

à
la

lim
ite

dans
cette

inégalité.

R
em

arqu
e

•
C

e
résultat

ainsique
sa

dém
onstration

sont
analogues

au
résultat

d’in-
égalité

triangulaire
énoncé

dans
le

chapitre
«

Intégrales
im

propres
».

•
La

notion
d’absolue

convergence
n’est

pas
équivalente

à
la

notion
de

convergence.P
lus

précisém
ent

:ilexiste
des

séries
convergentes

quine
sont

pas
absolum

ent
convergentes.O

n
parle

alors
parfois

de
série

sem
i-

convergente
pour

désigner
une

série
convergente

m
ais

non
absolum

ent
convergente.
,!

on
verra

un
exem

ple
en

T
D

U
n

p
oint

su
r

le
B

O
.

La
notion

de
convergence

absolue
pour

les
séries

n’est
pas

développée
en

prem
ière

année.
P
our

citer
le

program
m

e
offi

ciel,
«

cette
notion

est
abordée

uniquem
ent

pour
perm

ettre
une

définition
de

l’espérance
d’une

variable
aléatoire

discrète
»

(cf
chapitre

à
venir

sur
les

probabilités).
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II.
M

éthodes
p
our

déterm
iner

la
nature

d’une
sé-

rie

É
tudier

la
nature

d’une
série P

u
n

c’est
étudier

la
nature

de
la

suite
de

ses
som

m
es

partielles
(S

n
).

Ilest
fortem

ent
recom

m
andé

d’être
au

point
sur

les
chapitres

«
Suites

»,«
C

onvergence
de

suites
»

et
«

C
alculs

de
som

m
es

».

II.1.
C

alcu
l
d
irect

d
es

som
m

es
p
artielles

P
our

déterm
iner

la
nature

d’une
série

P
u

n ,on
peut,dans

certains
cas,

directem
ent

expliciter
S

n
som

m
e

partielle
d’ordre

n
associée

à
P

u
n .

À
l’aide

de
cette

technique,on
a

déjà
dém

ontré
que

:

⇥
P

1, P
n, P

n
2, P

n
3

sont
des

séries
divergentes.

⇥
P

q
n

est
une

série
divergente

si|q|>
1

et
convergente

si|q|
<

1.

R
em

arqu
e

•
C

ette
technique

est
l’analogue,

dans
le

m
onde

discret,
de

la
technique

dite
des

prim
itives

à
vue

du
chapitre

«
Intégration

».

•
Il

existe
aussi

un
théorèm

e
de

som
m

ation
par

parties,
technique

ana-
logue

à
celle

de
l’intégration

par
parties.C

e
résultat

n’est
pas

présenté
icicar

n’a
que

peu
d’intérêt

pour
la

résolution
d’exercices.

•
L’analogue

du
principe

de
changem

ent
de

variable
est

le
décalage

d’in-

dice.Si
S

n
=

nPk
=

0

u
k ,en

posant
j

=
k

+
m

,on
obtient

S
n

=
n
+

m
Pj=

m
u

j�
m

.6
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R
em

ar
qu

e

•
A

in
si

,p
ou

r
ét

ud
ie

r
un

e
sé

ri
e
P

u
n

à
te

rm
es

né
ga

ti
fs

,i
ls

uffi
t

d’
ét

ud
ie

r
la

sé
ri

e
P

�
u

n
qu

ie
st

à
te

rm
es

po
si

ti
fs

.

•
O

n
au

ra
it

do
nc

pu
én

on
ce

r
le

s
T

hé
or

èm
es

11
,

12
,

13
su

r
de

s
sé

ri
es

à
te

rm
es

né
ga

ti
fs

.
E

n
fa

it
,

l’h
yp

ot
hè

se
ad

éq
ua

te
po

ur
ce

s
th

éo
rè

m
es

es
t

ce
lle

de
s

sé
ri

es
à

te
rm

es
de

si
gn

e
co

ns
ta

nt
.

•
N

ot
on

s
qu

e
ce

rt
ai

ne
s

sé
ri

es
ne

so
nt

pa
s

à
te

rm
es

de
si

gn
e

co
ns

ta
nt

.
U

n
ex

em
pl

e
pa

rt
ic

ul
ie

r
es

t
ce

lu
i

de
s

sé
ri

es
do

nt
le

s
te

rm
es

so
nt

de

si
gn

es
al

te
rn

és
(c

om
m

e
pa

r
ex

em
pl

e
P n
>

1

(�
1)

n

n
).

Il
ex

is
te

un
ré

su
lt

at

de
co

nv
er

ge
nc

e
sp

éc
ifi

qu
e

à
ce

ty
pe

de
sé

ri
es

no
m

m
ée

s
sé

ri
es

al
te

rn
ée

s
(c

f
T

D
).

V
I.

N
ot

io
n

de
co

nv
er

ge
nc

e
ab

so
lu

e

D
éfi

n
it

io
n

So
it
P

u
n

un
e

sé
ri

e.

•
La

sé
ri

e
P

u
n

es
t

di
te

ab
so

lu
m

en
t

co
nv

er
ge

nt
e

si
la

sé
ri

e
P

|u
n
|

es
t

co
nv

er
ge

nt
e.

T
h
éo

rè
m

e
14

.
(I

né
ga

lit
é

tr
ia

ng
ul

ai
re

)

So
ie

nt
P

u
n

un
e

sé
ri

e.

1)
P

u
n

es
t
ab

so
lu

m
en

t
co

nv
er

ge
nt

e
)

P
u

n
es

t
co

nv
er

ge
nt

e

2)
D

an
s
le

ca
s
de

la
co

nv
er

ge
nc

e,
on

a
de

pl
us

:
� � � �+

1 P k
=

0

u
k

� � � �
6

+
1 P k
=

0

|u
k
| 26

E
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B
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II
.2

.
U

n
e

co
n
d
it

io
n

NÉ
CE

SS
AI

RE
d
e

co
nv

er
ge

n
ce

T
h
éo

rè
m

e
2.

So
it

(u
n
)

un
e

su
it
e

de
ré

el
s.

P
u

n
co

nv
er

ge
)

u
n

�!
n
!

+
1

0

P
ou

r
qu

’u
ne

sé
ri

e
co

nv
er

ge
,
il

fa
u
t

qu
e

so
n

te
rm

e
gé

né
ra

lt
en

de
ve

rs
0.

D
ém

on
st

ra
ti
on

.
Su

pp
os

on
sq

ue
la

sé
ri

e
P

u
n

co
nv

er
ge

.A
in

si
,l

a
su

it
e

(S
n
)
es

tc
on

ve
rg

en
te

ve
rs

un
ré

el
S
2

R
.O

r,
po

ur
to

ut
n
>

1
,o

n
a

:

u
n

=
S

n
�

S
n
�

1

C
om

m
e

S
n

�!
n
!

+
1

S
et

S
n
�

1
�!

n
!

+
1

S
,o

n
ob

ti
en

t
:u

n
�!

n
!

+
1

0.

�
C

et
te

co
nd

it
io

n
es

tn
éc

es
sa

ir
e

m
ai

s
pa

s
su

ffi
sa

nt
e.

A
ut

re
m

en
td

it
,

on
pe

ut
tr

ou
ve

r
un

e
su

it
e

(u
n
)

te
lle

qu
e

:

u
n

�!
n
!

+
1

0
)

P
u

n
co

nv
er

ge

+
ln

✓ 1
+

1 n

◆
�!

n
!

+
1

0
m

ai
s

la
sé

ri
e
P

ln

✓ 1
+

1 n

◆
n’

es
t

pa
s

co
nv

er
-

ge
nt

e.

7



E
C

E
1-B

2015-2016

A
p
p
lication

:
exercices

1)
R

etour
sur

la
divergence

de
la

série
Pn>

1

1n
.

O
n

peut
rédiger

com
m

e
suit

:

•
ln ✓

1
+

1n ◆
⇠n!
+
1

1n
(>

0)

•
O

n
en

déduit
que

Pn>
1

1n
et
Pn>

1
ln ✓

1
+

1n ◆
sont

de
m

êm
e

nature.

O
r
Pn>

1
ln ✓

1
+

1n ◆
est

divergente
donc

Pn>
1

1n
est

divergente.

2)
R

etour
la

convergence
de

la
série

Pn>
1

1n
.

O
n

peut
rédiger

com
m

e
suit

:

•
1n
2

⇠n!
+
1

1

n
(n

�
1)

(>
0)

•
O

n
en

déduit
que

Pn>
1

1n
2

et
Pn>

2

1

n
(n

�
1)

sont
de

m
êm

e
nature.

O
r
Pn>

2

1

n
(n

�
1)

est
convergente

(cf
dém

o
précédente)

donc
Pn>

1

1n
2

est
convergente.

3)
R

etour
la

convergence
de

la
série

Pn>
1

1n
↵

avec
↵

>
2.

O
n

peut
rédiger

com
m

e
suit

:

•
1n
↵

>
0

et
1n
2

>
0

•
1n
↵

=
o

n!
+
1

✓
1n
2 ◆

car
1n
↵1n
2

=
n

2

n
↵

=
1

n
↵�

2
�!

n!
+
1

0.

O
r
Pn>

1

1n
2

est
convergente

donc
Pn>

1

1n
↵

est
convergente.

25

E
C

E
1-B

2015-2016

T
h
éorèm

e
3.

Soit
(u

n
)

une
suite

de
réels.

u
n

6�!
n!

+
1

0
)

P
u

n
diverge

P
our

qu’une
série

diverge,
ilsu

ffi
t

que
son

tg
ne

tende
pas

vers
0.

D
ém

onstration.
C

’est
la

contraposée
de

l’énoncé
précédent.

D
éfi

n
ition

Soit
(u

n
)

une
suite

de
réels.

•
O

n
dit

que
la

série P
u

n
est

grossièrem
ent

d
ivergente

sison
term

e
général

u
n

est
telque

:
u

n
6�!

n!
+
1

0.

R
em

arqu
e

•
Le

théorèm
e

précédent
stipule

que
siune

série
est

grossièrem
ent

diver-
gente

alors
elle

est
divergente.

•
Les

séries P
1, P

n, P
n

2, P
n

3
et P

q
n

avec|q|>
1

sont
grossiè-

rem
ent

divergentes.

•
C

et
énoncé

perm
et

d’établir
une

prem
ière

m
éthodologie

d’étude
des

séries.

MÉTHODO
:déterm

iner
la

nature
d’une

série
P

u
n .

1)
Si

u
n

6�!
n!

+
1

0
alors

la
série

P
u

n
est

grossièrem
ent

divergente.
E

lle
est

donc
divergente.

2)
Si

u
n

�!
n!

+
1

0,on
ne

peut
conclure

par
cet

argum
ent!

La
série

P
u

n
peut

être
divergente

ou
convergente.
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T
h
éo

rè
m

e
13

.
(C

ri
tè

re
d’

éq
ui

va
le
nc

e
-
cr

it
èr

e
de

né
gl

ig
ea

bi
lit

é)

So
ie

nt
P

u
n

et
P

v n
de

ux
sé

ri
es

à
te

rm
es

st
ri

ct
em

en
t
po

si
ti
fs

.

1)
u

n
⇠

n
!

+
1

v n
(>

0)
)

P
u

n
et
P

v n
so

nt
de

m
êm

e
na

tu
re

2)

•
u

n
>

0,
v n

>
0

•
u

n
=

o
n
!

+
1

(v
n
)

•
P

v n
co

nv
er

ge

9 > > = > > ;
)

P
u

n
co

nv
er

ge

D
ém

on
st

ra
ti
on

.

1)
u

n
⇠

n
!

+
1

v n
,

u
n

v n
�!

n
!

+
1

1.

A
in

si
:8

"
>

0,
9m

2
N

,8
n
>

m
,

� � � �u
n

v n
�

1� � � �6
".

P
ar

ex
em

pl
e,

si
"

=
1 2
,i

le
xi

st
e

m
2

N
te

lq
ue

:

8n
>

m
,

0
<

1 2
6

u
n

v n
6

3 2

2)
u

n
=

o
n
!

+
1

(v
n
)
,

u
n

v n
�!

n
!

+
1

0.

A
in

si
:8

"
>

0,
9m

2
N

,8
n
>

m
,

� � � �u
n

v n

� � � �6
".

P
ar

ex
em

pl
e,

si
"

=
1,

il
ex

is
te

m
2

N
te

lq
ue

:8
n
>

m
,

� � � �u
n

v n

� � � �6
1

A
ut

re
m

en
t

di
t

:8
n
>

m
,

u
n

v n
6

1
et

do
nc

0
6

u
n
6

v n
.

R
em

ar
qu

e

•
E

nc
or

e
un

e
fo

is
,

on
pe

ut
re

lâ
ch

er
l’h

yp
ot

hè
se

de
st

ri
ct

e
po

si
ti

vi
té

en
pr

en
an

t
(u

n
)

et
(v

n
)

su
it

es
de

te
rm

es
po

si
ti

fs
te

lle
s

(v
n
)

ne
s’

an
nu

le
pa

s
à

pa
rt

ir
d’

un
ce

rt
ai

n
ra

ng
.
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II
I.

P
ro

pr
ié

té
s

de
s

sé
ri

es
co

nv
er

ge
nt

es

II
I.
1.

D
éc

ou
p
ag

e
d
’u

n
e

sé
ri

e
co

nv
er

ge
nt

e

T
h
éo

rè
m

e
4.

O
n

co
ns

id
èr

e
un

e
sé

ri
e
P

u
n
.

1)
A

lo
rs

on
a

:
P

u
n

co
nv

er
ge

)
8m

2
N

,
P n
>

m
u

n
co

nv
er

ge

2)
E
n

ca
s

de
co

nv
er

ge
nc

e
on

a
de

pl
us

:

8m
>

1,
+
1 P k
=

0

u
k

=
m
�

1
P k
=

0

u
k

+
+
1 P k

=
m

u
k

D
ém

on
st

ra
ti
on

.

So
it

m
2

N
⇤ .

P
ou

r
to

ut
n
>

m
,o

n
a

:
n P k
=

0

u
k

=
m
�

1
P k
=

0

u
k

+
n P k
=

m

u
k

et
:

n P k
=

m

u
k

=
n P k
=

0

u
k

�
m
�

1
P k
=

0

u
k

(

(

(

T
n

S
n

2
R

La
su

it
e

(S
n
)

ét
an

t
co

nv
er

ge
nt

e,
il

en
es

t
de

m
êm

e
de

(T
n
).

L’
ég

al
it

é
en

tr
e

le
s

so
m

m
es

de
s

sé
ri

es
es

t
ob

te
nu

e
pa

r
pa

ss
ag

e
à

la
lim

it
e

(q
ua

nd
n
!

+
1

)
da

ns
l’é

ga
lit

é
pr

éc
éd

en
te

.

R
em

ar
qu

e

•
C

e
th

éo
rè

m
e

si
gn

ifi
e

qu
e

la
co

nv
er

ge
nc

e
d’

un
e

sé
ri

e
P

u
n

ne
dé

pe
nd

pa
s

de
s

pr
em

ie
rs

te
rm

es
de

ce
tt

e
sé

ri
e.

•
P
ar

co
nt

re
,l

e
ca

lc
ul

de
la

so
m

m
e

dé
pe

nd
de

l’i
nd

ic
e

de
dé

pa
rt

.

•
C

’e
st

l’a
na

lo
gu

e
de

la
re

la
ti

on
de

C
ha

sl
es

su
r

le
s

in
té

gr
al

es
im

pr
op

re
s

..
.
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V
.3.

A
p
p
lication

:
critères

d
’équ

ivalen
ce

et
d
e

n
égligeab

i-
lité

T
h
éorèm

e
12.

Soient P
u

n
et P

v
n

deux
séries

à
term

es
strictem

ent
positifs.

Supposons
qu’ilexiste

(m
,M

)2
R

2
:

8
n
2

N
,

0
<

m
6

u
n

v
n
6

M

A
lors

les
séries P

u
n

et P
v
n

sont
de

m
êm

e
nature.

P
lus

précisém
ent,

on
a

:

1)
P

u
n

converge
,

P
v
n

converge

2)
P

u
n

diverge
,

P
v
n

diverge

D
ém

onstration.
Soit

n
2

N
.P

ar
hypothèse,on

a
:
0

<
m

v
n
6

u
n
6

M
v
n .

P
ar

le
théorèm

e
11,on

en
déduit

que
:

1)
P

M
v
n

converge)
P

u
n

converge)
P

m
v
n

converge,

2)
P

m
v
n

diverge)
P

u
n

diverge)
P

M
v
n

diverge.

Ilsuffi
t

alors
de

rem
arquer

que
les

séries P
m

v
n , P

M
v
n

et P
v
n

sont

de
m

êm
e

nature
puisque

nPk
=

0

M
v
k

=
M

nPk
=

0

v
k .

R
em

arqu
e

•
La

conclusion
reste

valable
avec

l’hypothèse
m

oins
stricte

suivante
:

8
n
>

m
,

0
<

m
6

u
n

v
n
6

M

•
O

n
peut

de
m

êm
e

relâcher
l’hypothèse

de
stricte

positivité
en

prenant
(u

n
)

et
(v

n
)

suites
de

term
es

positifs
telles

(v
n
)

ne
s’annule

pas
à

partir
d’un

certain
rang.
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III.2.
L
in

éarité

T
h
éorèm

e
5.

Soient P
u

n
et P

v
n

deux
séries.

Soit
(�

,µ
)2

R
2.

1)
•
P

u
n

converge

•
P

v
n

converge

�
)

P
(�

u
n

+
µ
v
n
)

converge

O
n

a
alors

:
+
1Pk
=

0

(�
u

k
+

µ
v
k )

=
�

+
1Pk
=

0

u
k

+
µ

+
1Pk
=

0

v
k

2)

•
P

u
n

converge

•
P

v
n

diverge

•
µ
6=

0

9>=>;
)

P
(�

u
n

+
µ
v
n
)

diverge

3)
Si P

u
n

diverge
et P

v
n

diverge
:

⇥
la

série
P

(�
u

n
+

µ
v
n
)

peut
être

divergente.

⇥
la

série
P

(�
u

n
+

µ
v
n
)

peut
être

convergente.

(à
voir

au
cas

par
cas)

D
ém

onstration.
Soit

n
2

N
.

O
n

a
l’égalité

suivante
sur

les
som

m
es

finies
:

nPk
=

0

(�
u

k
+

µ
v
k )

=
�

nPk
=

0

u
k

+
µ

nPk
=

0

v
k

8
>>><
>>>:

⇢

⇢

V
n

S
n

T
n
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2)
M

on
tr

on
s

m
ai

nt
en

an
t

qu
e

la
sé

ri
e
P n
>

1

1 n
2

es
t

co
nv

er
ge

nt
e.

•
C

’e
st

un
e

sé
ri

e
à

te
rm

es
po

si
ti

fs
.

•
O

n
a,

po
ur

to
ut

n
>

2
:

1 n
2

6
1

n
(n

�
1)

.

P
ou

rp
ou

vo
ir

co
nc

lu
re

pa
rl

e
th

éo
rè

m
e

pr
éc

éd
en

ti
lf

au
dr

ai
tc

on
na

ît
re

la
na

tu
re

de
la

sé
ri

e
P n
>

2

1

n
(n

�
1)

.

•
R

em
ar

qu
on

s
qu

e
:8

k
>

2
,

1

k
(k

�
1)

=
1

k
�

1
�

1 k
.O

n
a

do
nc

:

n P k
=

2

1

k
(k

�
1)

=
n P k
=

2

✓
1

k
�

1
�

1 k

◆
=

1
�

1 n
�!

n
!

+
1

1

•
La

sé
ri

e
P n
>

2

1 n
2

:

-
es

t
à

te
rm

es
po

si
ti

fs
,

-
so

n
te

rm
e

gé
né

ra
lv

ér
ifi

e
:8

n
>

2,
0

6
1 n
2

6
1

n
(n

�
1)

,

-
la

sé
ri

e
P n
>

2

1

n
(n

�
1)

es
t

co
nv

er
ge

nt
e.

,!
on

en
dé

du
it

qu
e

la
sé

ri
e
P n
>

2

1 n
2

es
t

co
nv

er
ge

nt
e.

Il
en

es
t

de
m

êm
e

de
la

sé
ri

e
P n
>

1

1 n
2
.

3)
O

n
pe

ut
en

fin
s’

in
té

re
ss

er
au

x
sé

ri
es
P n
>

1

1 n
↵

av
ec

↵
2

R
.

•
Si

↵
>

2,
on

a
:8

n
>

1
,

0
6

1 n
↵

6
1 n
2

do
nc
P n
>

1

1 n
↵

co
nv

er
ge

.

•
Si

↵
6

1,
on

a
:8

n
>

1
,

0
6

1 n
6

1 n
↵

do
nc
P n
>

1

1 n
↵

di
ve

rg
e.

E
n

fa
it

,o
n

a
un

ré
su

lt
at

pl
us

pr
éc

is
:
P n
>

1

1 n
↵

co
nv

er
ge

,
↵

>
1.
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01
6

1)
Si

(S
n
)

et
(T

n
)

co
nv

er
ge

nt
,

il
en

es
t

al
or

s
de

m
êm

e
po

ur
(V

n
)

pa
r

so
m

m
e

de
su

it
es

co
nv

er
ge

nt
es

.
L’

ég
al

it
é

en
tr

e
so

m
m

es
de

s
sé

ri
es

es
t

ob
te

nu
e

pa
r

pa
ss

ag
e

à
la

lim
it

e
(n

!
+
1

)
da

ns
l’é

ga
lit

é
pr

éc
éd

en
te

.

2)
D

’a
pr

ès
l’é

ga
lit

é
pr

éc
éd

en
te

,o
n

a
:

T
n

=
1 µ

V
n
�

� µ
S

n
.

Su
pp

os
on

s
pa

r
l’a

bs
ur

de
qu

e
P

u
n

co
nv

er
ge

((
S

n
)

co
nv

er
ge

),
P

v n
di

ve
rg

e
((

T
n
)
di

ve
rg

e)
,e

t
qu

e
P

(�
u

n
+

µ
v n

)
co

nv
er

ge
((

V
n
)
co

nv
er

ge
).

D
’a

pr
ès

l’é
ga

lit
é

pr
éc

éd
en

te
,T

n
ap

pa
ra

ît
co

m
m

e
so

m
m

e
de

V
n

et
S

n
,

te
rm

es
gé

né
ra

ux
de

de
ux

su
it

es
co

nv
er

ge
nt

es
.

O
n

en
dé

du
it

qu
e

(T
n
)

es
t

co
nv

er
ge

nt
e

ce
qu

ie
st

ex
cl

u
pa

r
hy

po
th

ès
e.

3)
P

re
no

ns
�

=
µ

=
1.

Il
lu

st
ro

ns
ce

t
én

on
cé

pa
r

de
ux

ex
em

pl
es

.
1)

Si
on

ch
oi

si
t

:
⇥

u
n

=
n

(P
u

n
di

ve
rg

e)
⇥

v n
=

n
(P

v n
di

ve
rg

e)
A

lo
rs

u
n

+
v n

=
2n

et
la

sé
ri

e
P

2
n

es
t

un
e

sé
ri

e
di

ve
rg

en
te

.
2)

Si
on

ch
oi

si
t

:
⇥

u
n

=
n

(P
u

n
di

ve
rg

e)
⇥

v n
=

�
n

(P
v n

di
ve

rg
e)

A
lo

rs
u

n
+

v n
=

0
et

la
sé

ri
e
P

0
es

t
un

e
sé

ri
e

co
nv

er
ge

nt
e.

À
re

te
n
ir

.
•

La
so

m
m

e
de

de
ux

sé
ri

es
co

nv
er

ge
nt

e
es

t
co

nv
er

ge
nt

e.
•

La
so

m
m

e
de

de
ux

sé
ri

es
di

ve
rg

en
te

s
pe

ut
-ê

tr
e

co
nv

er
ge

nt
e

ou
di

ve
r-

ge
nt

e.
•

O
n

ne
ch

an
ge

pa
s
la

na
tu

re
d’

un
e

sé
ri

e
en

m
ul

ti
pl

ia
nt

so
n

te
rm

e
gé

né
ra

l
pa

r
un

ré
el

�
6=

0.
•

À
l’a

id
e

de
ce

th
éo

rè
m

e,
on

a
le

ré
su

lt
at

su
iv

an
t

:
P

u
n

co
nv

er
ge

)
P

�
u

n
co

nv
er

ge
)

P
u

n
co

nv
er

ge

A
ut

re
m

en
t

di
t

:P
u

n
co

nv
er

ge
,

P
�

u
n

co
nv

er
ge

.
(o

n
en

re
pa

rl
er

a
..

.)
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R
em

arqu
e

•
La

conclusion
reste

valable
avec

l’hypothèse
m

oins
stricte

suivante
:

8
n
>

m
,

0
6

u
n
6

v
n

(la
convergence

d’une
série,

com
m

e
on

le
verra

par
la

suite,
ne

dépend
pas

de
ses

prem
iers

term
es)

•
C

e
résultat

est
analogue

à
la

P
roposition

1
du

chapitre
«

Intégrales
im

propres
»

portant
sur

les
fonctions

continues
et

positives.
•

C
e

théorèm
e

est
im

portant.
Il

signifie
que

pour
déterm

iner
la

nature
d’une

série
à

term
es

positifs,
il

suffi
t

de
la

com
parer

à
des

séries
de

référence
(dont

on
connaît

la
nature).

A
p
p
lication

:
exercices

1)
O

n
considère

la
série

Pn>
1

1n
et

on
souhaite

m
ontrer

qu’elle
est

diver-

gente.
•

O
n

rem
arque

tout
d’abord

que
:

8
x
>

0
,

0
6

ln
(1

+
x
)
6

x

L’inégalité
de

droite
est

une
inégalité

de
convexité.

E
n

effet,
la

fonction
f

:
x

7!
ln

(1
+

x
)

est
concave.

Sa
courbe

est
donc

si-
tuée

en
dessous

de
ses

tangentes,
notam

m
ent

sa
tangente

en
0

:
y

=
f
0(0)

(x
�

0)
+

f
(0)

=
x

•
La

série
Pn>

1

1n
:

-
est

à
term

es
positifs,

-
son

term
e

généralvérifie
:8

n
>

1,
0

6
ln ✓

1
+

1n ◆
6

1n
,

-
la

série
P

ln ✓
1

+
1n ◆

est
divergente.

,!
on

en
déduit

que
la

série
Pn>

1

1n
est

divergente.

21

E
C

E
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2015-2016

IV
.

Séries
usuelles

IV
.1.

S
éries

géom
étriqu

es
et

ses
d
érivées

T
h
éorèm

e
6.

Soit
q2

R
.

1)
P

q
n

converge
,

|q|
<

1

2)
Pn>

1
n

q
n�

1
converge

,
|q|

<
1

3)
Pn>

2
n
(n

�
1)

q
n�

2
converge

,
|q|

<
1

D
e

plus,
si|q|

<
1,

on
obtient

les
som

m
es

suivantes.

a.
+
1Pk
=

0

q
k

=
1

1�
q

b.
+
1Pk
=

1

k
q
k�

1
=

1

(1�
q)

2

c.
+
1Pk
=

2

k
(k�

1)
q
k�

2
=

2

(1�
q)

3

D
ém

onstration.

1)
Si

q
=

1,on
a

S
n

=
nPk
=

0

1
k

=
n

+
1

�!
n!

+
1

+
1

.

Si
q6=

1,
S

n
=

nPk
=

0

q
k

=
1�

q
n
+

1

1�
q

=
1

1�
q
�

q
n
+

1

1�
q .

⇥
Si|q|

<
1,

on
a

q
n
+

1
�!

n!
+
1

0,
donc

(S
n
)

converge
et

:
+
1Pk
=

0

q
k

=

1

1�
q .

⇥
Si

q
>

1,on
a

q
n
+

1
�!

n!
+
1

+
1

,donc
S

n
�!

n!
+
1

+
1

.

⇥
Si

q
6

�
1,la

suite
(q

n
+

1)
n’adm

et
pas

de
lim

ite,donc
(S

n
)
diverge.
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D
ém

on
st

ra
ti
on

.
C

’e
st

un
e

co
ns

éq
ue

nc
e

du
th

éo
rè

m
e

de
co

nv
er

ge
nc

e
m

on
ot

on
e!

La
su

it
e

(S
n
)

es
t

cr
oi

ss
an

te
.

⇥
Si

el
le

es
t

de
pl

us
m

aj
or

ée
,e

lle
es

t
co

nv
er

ge
nt

e.
R

éc
ip

ro
qu

em
en

t,
si

(S
n
)

co
nv

er
ge

,e
lle

es
t

m
aj

or
ée

.
⇥

Si
el

le
es

t
no

n
m

aj
or

ée
,e

lle
te

nd
ve

rs
+
1

.

V
.2

.
C

ri
tè

re
d
e

co
m

p
ar

ai
so

n
d
es

sé
ri

es
à

te
rm

es
p
os

it
if
s

T
h
éo

rè
m

e
11

.
So

ie
nt
P

u
n

et
P

v n
de

ux
sé

ri
es

à
te

rm
es

po
si

ti
fs

.

Su
pp

os
on

s
:

8n
2

N
,

0
6

u
n
6

v n

A
lo

rs
1)
P

v n
co

nv
er

ge
)

P
u

n
co

nv
er

ge

2)
P

u
n

di
ve

rg
e

)
P

v n
di

ve
rg

e

D
ém

on
st

ra
ti
on

.
So

it
n
2

N
.C

om
m

e
:8

k
2

N
,

0
6

u
k
6

v k
,o

n
en

dé
du

it
:

•
S

n
=

n P k
=

0

u
k

6
n P k
=

0

v k
=

T
n
,

•
(S

n
)

et
(T

n
)

so
nt

cr
oi

ss
an

te
s

pu
is

qu
e
P

u
n

et
P

v n
so

nt
à

te
rm

es
po

si
ti

fs
.

1)
Si
P

v n
co

nv
er

ge
,a

lo
rs

(T
n
)

es
t

m
aj

or
ée

.
Il

ex
is

te
do

nc
M

2
R

te
lq

ue
:8

n
2

N
,

T
n

6
M

.A
in

si
:

8n
2

N
,

S
n

6
T

n
6

M

ce
qu

is
ig

ni
fie

qu
e

(S
n
)
es

tm
aj

or
ée

pa
rM

.D
e

pl
us

,(
S

n
)
es

tc
ro

is
sa

nt
e.

E
lle

es
t

do
nc

co
nv

er
ge

nt
e.

O
n

en
co

nc
lu

t
qu

e
P

u
n

co
nv

er
ge

.
2)

Si
P

u
n

di
ve

rg
e,

la
su

it
e

cr
oi

ss
an

te
(S

n
)

es
t

no
n

m
aj

or
ée

.
O

n
en

dé
du

it
qu

e
:S

n
�!

n
!

+
1

+
1

.O
r

:8
n
2

N
,

T
n

6
S

n
.

O
n

en
dé

du
it

qu
e

:T
n

�!
n
!

+
1

+
1

.

20

E
C

E
1-

B
20

15
-2

01
6

O
n

co
ns

id
èr

e
la

fo
nc

ti
on

f n
:
x
7!

n P k
=

0

x
k
.C

’e
st

un
e

fo
nc

ti
on

po
ly

no
m

ia
le

et
el

le
es

t
do

nc
C

1
su

r
R

.D
’a

ut
re

pa
rt

,p
ou

r
to

ut
x
6=

1
,c

et
te

fo
nc

ti
on

pe
ut

s’
éc

ri
re

so
us

la
fo

rm
e

: f n
(x

)
=

1
�

x
n
+

1

1
�

x

2)
Si

x
6=

1,
on

a
:f

0 n
(x

)
=

n P k
=

1

k
x

k
�

1
.

D
e

pa
r

l’a
ut

re
ex

pr
es

si
on

de
f n

,o
n

a
au

ss
i:

f
0 n
(x

)
=

�
(n

+
1)

x
n
(1

�
x
)
+

(1
�

x
n
+

1
)

(1
�

x
)2

=
�

(n
+

1)
x

n
+

n
x

n
+

1
+

1

(1
�

x
)2

D
e

pl
us

,
si

|x
|<

1,
on

a
(n

+
1
)

x
n

�!
n
!

+
1

0
et

n
x

n
+

1
�!

n
!

+
1

0
et

la

sé
ri

e
P

n
x

n
�

1
es

t
do

nc
co

nv
er

ge
nt

e
(x

fix
é)

.
A

u
fin

al
,p

ou
r

to
ut

q
te

lq
ue

|q|
<

1,
on

a
:

f
0 n
(q

)
=

n P k
=

0

k
qk

�
1

�!
n
!

+
1

+
1 P k
=

0

k
qk

�
1

=
1

(1
�

q)
2

3)
So

it
x
6=

1.
O

n
ra

is
on

ne
de

m
êm

e.
La

dé
ri

vé
e

de
f
0 n

pe
ut

s’
éc

ri
re

:

f
00 n
(x

)
=

�
(n

+
1)

n
x

n
�

1
+

2
(n

+
1)

(n
�

1)
x

n
+

n
(1

�
n
)

x
n
+

1
+

2

(1
�

x
)3

P
ou

r
to

ut
q

te
lq

ue
|q|

<
1
,o

n
a

:

f
00 n
(q

)
=

n P k
=

2

k
(k

�
1
)

qk
�

2
�!

n
!

+
1

+
1 P k
=

2

k
(k

�
1
)

qk
�

2
=

2

(1
�

q)
3

R
em

ar
qu

e
•

Le
s

sé
ri

es
de

la
fo

rm
e
P

qn
so

nt
ap

pe
lé

es
sé

ri
es

gé
om

ét
ri

qu
es

.
•

Le
s

sé
ri

es
de

la
fo

rm
e
P n
>

1
n

qn
�

1
et
P n
>

1
n
(n

�
1
)

qn
�

2
so

nt
ap

pe
lé

es

sé
ri

es
gé

om
ét

ri
qu

es
dé

ri
vé

es
.

•
Le

s
fo

rm
ul

es
pr

éc
éd

en
te

s
de

so
m

m
es

re
st

en
t

va
la

bl
es

av
ec

un
e

in
it

ia
li-

sa
ti

on
à

n
=

0
pu

is
qu

e
le

s
te

rm
es

aj
ou

té
s

so
nt

nu
ls

.
•

O
n

au
ra

it
pu

ca
lc

ul
er

la
dé

ri
vé

e
3è

m
e ,

4è
m

e
..

.
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V
.

Séries
à

term
es

p
ositifs

V
.1.

L
es

résu
ltats

fon
d
am

entau
x

T
h
éorèm

e
9.

Soit P
u

n
une

série
et

(S
n
)
n2

N
suite

des
som

m
es

partielles
associée.

(8
n
2

N
⇤,

u
n
>

0)
,

(S
n
)

est
croissante

D
ém

onstration.

()
)

Supposons
:8

n
2

N
⇤,

u
n
>

0.
Soit

n
2

N
.O

n
a

S
n
+

1 �
S

n
=

u
n
+

1 >
0.A

insi,
(S

n
)

est
croissante.

((
)

Supposons
(S

n
)

croissante.
Soit

n
2

N
⇤.O

n
a

u
n

=
S

n �
S

n�
1 >

0.

R
em

arqu
e

•
C

e
résultat

est
à

com
parer

à
celuidu

chapitre
précédent

quiénonce
:

f
>

0
)

F
:
x
7!
Z

x

a
f
(t)

d
t

est
croissante

•
O

n
a

aussidém
ontré

dans
le

chapitre
«

Intégrales
im

propres
»

:
Z

+
1

a
f
(t)

d
t

converge
,

F
est

m
ajorée

Le
résultat

analogue
s’énonce

com
m

e
suit.

T
h
éorèm

e
10.

Soit P
u

n
une

série
à

term
es

positifs
:

8
n
2

N
,

u
n
>

0.

1)
P

u
n

converge
,

(S
n
)

est
m

ajorée.

2)
(S

n
)

non
m

ajorée
)

S
n

�!
n!

+
1

+
1

.
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A
p
p
lication

D
ans

les
exercices,ilfaudra

savoir
reconnaître

les
séries

géom
étriques

et
géom

étriques
dérivées

et
savoir

calculer
leur

som
m

e.

1)
M

ontrer
que

P
n

3
2
n
+

1
est

convergente
et

calculer
sa

som
m

e.

P
our

n
2

N
,on

note
:
u

n
=

n

3
2
n
+

1
=

n ✓
13 ◆

2
n
+

1

=
13

n  
✓

13 ◆
2 !

n.

O
n

a
donc

:
S

n
=

13

nPk
=

0

k ✓
19 ◆

k

=
12
7

nPk
=

0

k ✓
19 ◆

k�
1

C
’est

la
som

m
e

partielle
d’une

série
géom

étrique
dérivée

de
raison

19
<

1.

A
insi:

S
n

�!
n!

+
1

127

1
�1�

19 �
2

=
1

3⇥
9

9
2

8
2

=
364 .

2)
M

ontrer
que

P
n

2

2
n

est
convergente

et
calculer

sa
som

m
e.

P
our

n
2

N
,on

note
:
u

n
=

n
2 ✓

12 ◆
n.

E
n

écrivant
:
n

2
=

n
(n

�
1
)
+

n,on
obtient

:

u
n

=
n
(n�

1) ✓
12 ◆

n

+
n ✓

12 ◆
n

=
14

n
(n�

1
) ✓

12 ◆
n�

2

+
12

n ✓
12 ◆

n�
1

O
n

a
donc

:
S

n
=

14

nPk
=

0

k
(k�

1
) ✓

12 ◆
k�

2

+
12

nPk
=

0

k ✓
12 ◆

k�
1.

O
n

reconnaît
la

som
m

e
partielle

d’une
série

géom
étrique

dérivée
et

la
som

m
e

partielle
d’une

série
géom

étrique
dérivée

seconde
toute

deux

de
raison

12
<

1.

A
insi:

S
n

�!
n!

+
1

14

2
�1�

12 �
3

+
12

1
�1�

12 �
2

=
2
44

+
2
22

=
4

+
2

=
614
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20

15
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01
6

A
p
p
li
ca

ti
on

D
an

s
le

s
ex

er
ci

ce
s,

il
fa

ud
ra

sa
vo

ir
re

co
nn

aî
tr

e
la

sé
ri

e
ex

po
ne

nt
ie

lle
et

ca
lc

ul
er

la
so

m
m

e
as

so
ci

ée
.

•
M

on
tr

er
qu

e
P

n
+

7

2
n

n
!

es
t

co
nv

er
ge

nt
e

es
t

ca
lc

ul
er

sa
so

m
m

e.

P
ou

r
n
2

N
,o

n
no

te
:u

n
=

n
+

7

2
n

n
!

=
n

(1 2
)n

n
!

+
7

(1 2
)n n
!

.

O
n

a
do

nc
:S

n
=

n P k
=

0

k
(1 2

)k

k
!

+
7

n P k
=

0

(1 2
)k k
!

.

⇥
T
ou

t
d’

ab
or

d,
re

m
ar

qu
on

s
qu

e
:

n P k
=

0

k
(1 2

)k

k
!

=
n P k
=

1

k
(1 2

)k

k
!

=
1 2

n P k
=

1

(1 2
)k

�
1

(k
�

1)
!

=
1 2

n
�

1
P k
=

0

(1 2
)k k
!

�!
n
!

+
1

1 2
e1 2

⇥
D

’a
ut

re
pa

rt
,o

n
a

:
7

n P k
=

0

(1 2
)k k
!

�!
n
!

+
1

7
e1 2

O
n

en
co

nc
lu

t
qu

e
:

S
n

�!
n
!

+
1

15 2
e1 2

=
15 2

p
e.
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IV
.2

.
S
ér

ie
s

d
e

R
ie

m
an

n

T
h
éo

rè
m

e
7.

So
it
↵
2

R
.
O

n
a

al
or

s
:

P
1 n
↵

co
nv

er
ge

,
↵

>
1

D
ém

on
st

ra
ti
on

.

•
Si

↵
6

1

⇥
C

as
↵

=
1

:l
a

sé
ri

e
P n
>

1

1 n
es

t
di

ve
rg

en
te

.

⇥
C

as
↵

<
1

:p
ou

r
to

ut
n
>

1
,o

n
a

:0
6

1 n
6

1 n
↵
.

O
r,

la
sé

ri
e
P n
>

1

1 n
di

ve
rg

e.

D
on

c,
pa

r
le

cr
it

èr
e

de
co

m
pa

ra
is

on
,l

a
sé

ri
e
P n
>

1

1 n
↵

di
ve

rg
e.

•
Si

↵
>

1

O
n

co
ns

id
èr

e
la

fo
nc

ti
on

f
:
x
7!

1 x
↵
.

C
om

m
e
↵
>

0,
f

es
t

dé
cr

oi
ss

an
te

.

x

f
(k

)

k
�

1
k f
(k

)
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IV
.3.

S
érie

exp
on

entielle

T
h
éorèm

e
8.

P
our

tout
x
2

R
,
la

série
P

x
n

n
!

converge
et

:
e
x

=
+
1Pk
=

0

x
k

k
!

A
insi

:
nPk
=

0

x
k

k
!

�!
n!

+
1

e
x

D
ém

onstration.
A

dm
is.

U
n

m
ot

su
r

ce
typ

e
d
’ob

jets
(CULTURE)

•
L’écriture

+
1Pk
=

0

a
k x

k
peut

être
vue

com
m

e
une

généralisation
de

la
notion

de
polynôm

es
:c’est

un
polynôm

e
de

degré1
.

•
O

n
appelle

cet
objet

une
série

entière
et

on
dit

alors
que

la
fonction

exponentielle
est

développable
en

série
entière

(D
SE

).T
outes

les
fonc-

tions
ne

sont
pas

développables
en

séries
entières.

L’intérêt
de

ce
type

de
développem

ent
est

la
relative

sim
plicité

de
l’objet

+
1Pk
=

0

a
k x

k
et

no-

tam
m

ent
son

bon
com

portem
ent

vis
à

vis
de

certaines
opérations

telles
que

la
dérivation.

•
C

e
type

d’objet
n’est

au
program

m
e

ni
en

prem
ière

ni
en

deuxièm
e

année.

R
em

arqu
e

C
om

m
e

précisé,nous
n’étudierons

pas
les

outils
pour

m
ontrer

la
conver-

gence
de

la
série

exponentielle.
C

ependant
nous

pouvons
quand

m
êm

e
vérifier

que
cette

série
n’est

pas
grossièrem

ent
divergente

:

P
our

tout
x
2

R
,

u
n

=
x

n

n
!

�!
n!

+
1

0

(on
peut

notam
m

ent
le

m
ontrer

à
l’aide

du
critère

de
d’A

lem
bert)
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P
our

tout
k
>

2,on
a

:
f
(k

)
6
Z

k

k�
1

f
(t)

d
t.

O
n

en
déduit

que,pour
tout

n
>

2
:

nPk
=

2

f
(k

)
6

nPk
=

2

Z
k

k�
1

f
(t)

d
t

q
q

S
n �

1

Z
n

1
f
(t)

d
t

A
insi:

S
n

6
1

+

Z
n

1

1t ↵
d
t

=
1

+


t �

↵
+

1

�
↵

+
1

�
n1

=
1

+
1

↵
�

1

✓
1�

1

n
↵�

1 ◆

O
n

en
déduit

que
:
S

n
6

1
+

1

↵
�

1 .

La
suite

(S
n
)

est
:

⇥
croissante

puisque
Pn>

1

1n
↵

est
une

série
à

term
es

positifs.

⇥
m

ajorée
par

1
+

1

↵
�

1 .

E
lle

est
donc

convergente.C
e

quisignifie
que

la
série

Pn>
1

1n
↵

est
conver-

gente.

R
em

arqu
e

•
Ilfautsavoirreconnaître

ce
type

de
sériesdanslesexercices.P

arexem
ple

:

⇥
les

séries
Pn>

1

1n
3 ,

Pn>
1

1n
2 ,

Pn>
1

1

n p
n

sont
convergentes.

⇥
les

séries
Pn>

1

1n
,
Pn>

1

1pn
sont

divergentes.
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